Worksheet:  2_IncredibleKids-bikeshop.doc

Rental Bike Business

Problem
The Incredible kids, Dash and Violet, would like to open a small bicycle rental shop business in the garage of their homes. They figure that the cost to rent bikes is $150.00 plus $10 per bike.  Using this formula, they compute the following table for 0 to 4 bikes:

	n
	C

	0
	150

	1
	160

	2
	170

	3
	180

	4
	190


a) Write an equation for computing the cost (C) from problem description?

b) Can you explain why there is still a cost for renting no bicycles at n=0?  What is this type of cost called?

c) Open up the spreadsheet file 2_IncredibleKids-bikeshop.xls and using the equation you found in part (a) complete the table for renting out 15 bicycles.

· What formula can you use in A8 to have the spreadsheet calculate the number of bicycles?

· How can you use the information in cells C3 and C4 when to create a formula in B7 to compute the cost?

· What must you do to the formula in B7 so that it can be used in copying down the B column?

d) Use the table to create an X-Y line graph of the data.   Copy your chart to a word document and answer these questions.

· What is the independent variable and why?

· What is the dependent variable and why?

· What type of a relationship does the graph indicate that exists between the number of bikes rented and the cost of the business?

e) The charges have changed!  Use the spreadsheet to refigure the results with the different cost models.  Copy the charts for each situation to your word processed document describing each of the new charts 

· Fixed cost for any number of bikes is $90 and per bike charge for renting is $10

· Fixed cost for any number of bikes is $175 and per bike charge for renting is $10

· Fixed cost for any number of bikes is $90 and per bike charge for renting is $18

· Fixed cost for any number of bikes is $175 and per bike charge for renting is $8.50

Questions to respond to about each chart:

1. Is the relationship the same as the original problem?

2. What symbolic equation represents the relationship in the chart?

f) 
After reviewing all the charts, which model would you conclude would be best for the bike shop to use in the business?  Explain why.

